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The 1 euro coin and the Turkish 50 cents lira coin have the same

dimensions, colors and measures. Mario has 3 one-euro coins and 2 Turkish

fifty-cent lira coins in his pocket.
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What is the probability that the first coin is fifty cents of a lira and the second

coin is one euro?
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Is the probability that the first coin is

What

]

t is the probability that the first coin

Corr
Wha
0.25
Correct

of lira?

d the other 50 cents

is the probability that one coin
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Observations on studentsanswers to questions created by teachers
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The justification for the correct answer starts from the reflection on the

measurement of the internal angle of a pentagon

The sum of the internal angles of a pentagon is:

[

entagon
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Since three pentagons must compete in a summit

there would be an empty space of:
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Show all attempts

Correct response

Your response

Apeeled jaris 8 cm tall and the base

diameter measures 5.8 cm.

Apeeled jaris 8 cm tall and the base

diameter measures 5.8 cm.

What is the volume of the peeled jar?

What is the volume of the peeled jar?

Find the correct answer:

Find the correct answer:

211,2502000cm>

9211.2592000cm®

3

©211.2592000cm!

o

What is the total surface area of the peeled

jar?

9211.2592000cm5

Answer: 198.5108000 cm? .

What is the total surface area of the peeled

+0.0x1/2 + 0.0x1/2 =0.50

+1.0x1/2 + 0.0x1/2

0x1/2+ 1.0x112

e the volume the formula is that

To calculate the volume the formulais thatof ~ To calculat

Ocylinder

v

erefore calculate the value

base that is:26.40740000 cm?.
f the volume is: 211.2592000

of cylinde

We must tl

©Wwe must therefore calculate the value

dell'area d

Odell'area di base that is:26.4074 cm?.

5]

@The value of the volume is: 211.2592 om®.  The value

i
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5.5 Teachers observations on the training module
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